

MOCK HECKE EIGENFUNCTIONS AND
A CONJECTURE OF HEJHAL

C.J. Mozzochi

P.O. Box 1424, Princeton, NJ 08542, USA

e-mail: cjm@ix.netcom.com

Abstract: Let $\Gamma = \text{SL}(2, Z)$. Hejhal has formulated a conjecture for Maass waveforms $\Psi(z, R)$ on $\Gamma \backslash H$, namely, that the $\Psi(z, R)$ “go Gaussian” as $R \rightarrow \infty$, where $R = \sqrt{\lambda - \frac{1}{4}}$.

Let $f(z, k)$ be a Hecke eigenfunction of even weight $k \geq 2$ on $\Gamma \backslash H$.

$$f(z, k) = \sum_{n=1}^{\infty} \lambda_n n^{\frac{k-1}{2}} e(nz).$$

Let $\Psi(z, k) = y^{k/2} |f(z, k)|$.

In this paper we first replace the λ_n with an arbitrary family of independent random variables $\lambda_n(\omega)$ on an arbitrary probability space and show that within our probability model, if the $\Psi(z, k)$ “go Gaussian” as $k \rightarrow \infty$, they do not do so uniformly.

We then briefly discuss a specific model based on the Sato-Tate probability measure.

AMS Subject Classification: 11F03, 11F11, 11F12, 11F72

Key Words: modular group, pair correlation, eigenvalues, Laplacian, Selberg trace formula, Bruggeman-Kuznetsov trace formula

1. Introduction

Let \mathbb{H} be the upper half plane and let $\Gamma = \text{SL}(2, Z)$.

Let $\mathcal{F} \subset \Gamma \backslash H$ be the usually chosen fundamental domain.

In a series of papers (cf. [10], [12], [13]) Hejhal and his collaborators have carefully investigated the topography and the statistical behavior of Maass waveforms on $\Gamma \backslash H$.

A Maass waveform $\Psi(z, R)$ on $\Gamma \backslash H$ is simply a square-integrable, nonconstant, Γ invariant eigenfunction of the hyperbolic Laplacian

$$\Delta = y^2 \left[\frac{\partial^2}{\partial x^2} + \frac{\partial^2}{\partial y^2} \right].$$

That is

$$\Delta \Psi(z, R) = -\lambda \Psi(z, R) = -(1/4 + R^2) \Psi(z, R)$$

on H .

Hejhal shows (cf. [8]) the $\Psi(z, R)$ can be taken to be real valued and can be expanded, since $\lambda_1 > \frac{1}{4}$,

$$\Psi(z, R) = \sum_{n=1}^{\infty} d_n y^{1/2} K_{iR}(2\pi n y) \begin{cases} \cos(2\pi n x) \\ \sin(2\pi n x) \end{cases}$$

depending on whether $\Psi(z, R)$ is even or odd.

Technically, of course, Ψ should be normalized so that

$$\int_{\Gamma \backslash H} |\Psi(z, R)|^2 d\mu_z = 1.$$

Hejhal then conjectures (cf. [10], [12], [13]) based on computation and theoretical considerations the limit as $R \rightarrow \infty$ of the relative frequency measures

$$\frac{\mu\{x \in B \mid \Psi(z, R) \in [\alpha, \beta]\}}{\mu\{B\}}$$

over arbitrary Jordan regions $B \subseteq \mathcal{F}$ is the Gaussian distribution with mean 0 and standard deviation $\|\Psi\|_2 / \sqrt{\mu(\mathcal{F})}$.

For each even $k \geq 2$ let $f(z, k)$ be a Hecke eigenfunction of weight k on $\Gamma \backslash H$.

$$f(z, k) = \sum_{n=1}^{\infty} \lambda_n n^{\frac{k-2}{2}} e(nz).$$

We know from Hecke theory and the work of Deligne that

$$\lambda_n \lambda_m = \sum_{d|(m,n)} \lambda_{nm/d^2} \tag{1.1}$$

$$|\lambda_p| \leq 2 \quad \text{for each prime } p. \tag{1.2}$$

Let $\phi(z, k) = y^{\frac{k}{2}} f(z, k)$. Then

$$\begin{aligned} \phi(z, k) &= \sum_{n=1}^{\infty} \lambda_n n^{\frac{k-2}{2}} y^{\frac{k}{2}} e^{-2\pi n y} e(nx) \\ \phi(z, k) &= \sum_{n=1}^{\infty} \lambda_n y^{1/2} K(ny) e(nx), \end{aligned}$$

where $K(y) = y^{\frac{k-1}{2}} e^{-2\pi y}$. Note the analogy with (1.1).

Let $\Psi(z, k) = |\phi(z, k)| = y^{k/2} |f(z, k)|$. Ψ should be normalized so that

$$\int_{\Gamma \backslash H} |\Psi(z)|^2 d\mu_z = 1.$$

One would like to know the limit as $k \rightarrow \infty$ of the relative frequency measures

$$\frac{\mu \{x \in B \mid \Psi(z, k) \in [\alpha, \beta]\}}{\mu(B)}$$

over arbitrary Jordan regions $B \subseteq \mathcal{F}$.

Let (Ω, μ) be an arbitrary probability space. Let $\{\lambda_p(\omega) \mid p \text{ is a prime}\}$ be an arbitrary family of independent random variables on Ω , whose range is contained in $[-2, 2]$.

Let $n = p_1^{k_1} \dots p_\ell^{k_\ell}$.

By the Hecke relations (1.1) we have

$$\lambda_n(\omega) = \lambda_{p_1^{k_1}}(\omega) \dots \lambda_{p_\ell^{k_\ell}}(\omega),$$

where the $\lambda_{p^k}(\omega)$ are evaluated from the $\lambda_p(\omega)$. Also

$$\text{Exp}(\lambda_n(\omega)) = \text{Exp}(\lambda_{p_1^{k_1}}(\omega)) \dots \text{Exp}(\lambda_{p_\ell^{k_\ell}}(\omega)).$$

Instead of $\Gamma \backslash H$ we restrict our attention to

$$R = \{(x, y) \mid -1/2 \leq x \leq 1/2; a \leq y \leq b\} \subseteq \mathcal{F}.$$

We rewrite $\phi(z, k)$ as

$$\phi(z, k) = \frac{k}{2} \text{Limit}_{T \rightarrow \infty} \phi(z; k, T),$$

where

$$\phi(z, k, T) = \sum_{n=1}^T \lambda_n(\omega)g(n, k)h(n, y)e(nx)$$

with

$$g(n, k) = n^{\frac{k-1}{2}},$$

$$h(n, y) = e^{-2\pi ny}.$$

Then

$$\Psi(z, k) = cy^{k/2} | \text{Limit}_{T \rightarrow \infty} \phi(z, k, T) |,$$

where c is a normalization factor.

To simplify the notation we let $\lambda_n = \lambda_n(\omega)$ throughout.

Define $I(n, k) \doteq \int_a^b y^{k-2} e^{-4\pi ny} dy$

Define $I(n, m, k) \doteq \int_a^b y^{mk-2} e^{-4\pi nmy} dy$

Define $I(\theta_1, \dots, \theta_T, m, k) \doteq \int_a^b y^{mk-2} e^{-2\pi(\theta_1+2\theta_2+\dots+T\theta_T)y} dy$, where $\theta_1 + \theta_2 + \dots + \theta_T = 2m$.

The normalization factor is determined from the constraint

$$\text{Exp} \int_R \Psi^2(z, k) d\mu_z = 1 ;$$

so that

$$1 = c^2 \text{Limit}_{T \rightarrow \infty} \text{Exp} \int_a^b y^{k-2} \left(\int_0^1 \left| \sum_{n=1}^T \lambda_n g(n, k) h(n, y) e(nx) \right|^2 dx \right) dy,$$

$$1 = c^2 \text{Limit}_{T \rightarrow \infty} \text{Exp} \int_a^b y^{k-2} \left(\sum_{n=1}^T \lambda_n^2 g^2(n, k) h^2(n, y) \right) dy,$$

$$1 = c^2 \text{Limit}_{T \rightarrow \infty} \text{Exp} \sum_{n=1}^T \lambda_n^2 g^2(n, k) \int_a^b y^{k-2} h^2(n, y) dy.$$

Hence

$$c = \frac{1}{\text{Limit}_{T \rightarrow \infty} \left(\sum_{n=1}^T g^2(n, k) I(n, k) \text{Exp}(\lambda_n^2) \right)^{1/2}}.$$

The following theorem is well known in the literature (cf. [1] p. 231).

Theorem 1.1. *Let $\gamma = \gamma(k, T)$ be a double sequence. For each $T = 1, 2, \dots$ define a function g_T on Z^+*

$$g_T(k) = \gamma(k, T) ,$$

$$\text{Let } g(k) = \text{Limit}_{T \rightarrow \infty} \gamma(k, T).$$

Suppose $g_T \rightarrow g$ uniformly in Z^+ . Then if

$$\text{Limit}_{k \rightarrow \infty} \left(\text{Limit}_{T \rightarrow \infty} \gamma(k, T) \right) \text{ exists,}$$

$$\text{Limit}_{k, T \rightarrow \infty} \gamma(k, T) \text{ exists,}$$

the two limits are equal, and we say the convergence is uniform.

For each $k \geq 2, T \geq 1, m \geq 1$ let

$$\gamma(k, T, m) = \frac{\int_R y^{km} \left| \sum_{k=1}^T \lambda_n g(n, k) h(n, y) e(nx) \right|^{2m} d\mu_z}{\left(\sum_{n=1}^T g^2(n, k) I(n, k) \text{Exp}(\lambda_n^2) \right)^m} .$$

By Theorem 30.2 on p. 408 in [3] we have

Theorem 1.2. *The $\Psi(z, k)$ go Gaussian as $k \rightarrow \infty$ if and only if for each $m \geq 1$*

$$\text{Limit}_{k \rightarrow \infty} \text{Limit}_{T \rightarrow \infty} \text{Exp } \gamma(k, T, m) = G(m),$$

where

$$G(m) = 1 \cdot 3 \cdot 5 \dots (2m - 1).$$

Theorem 1.3. *If the $\Psi(z, k)$ go Gaussian as $k \rightarrow \infty$, then the convergence is not uniform.*

By Theorem 1.1 to prove Theorem 1.3 it is sufficient to establish

Theorem 1.4. *For each $m \geq 1$*

$$\text{Limit}_{k, T \rightarrow \infty} \text{Exp } \gamma(k, T, m) \neq G(m) .$$

This theorem is an immediate consequence of

Theorem 1.5. *Let T be fixed but arbitrary large. Then for each $m \geq 1$*

$$\lim_{k \rightarrow \infty} \text{Exp } \gamma(k, T, m) = \infty .$$

2. Proof of Theorem 1.5

We first establish

Lemma 2.1. For each n, m, k

$$k^{m-1} c_1(n, m) \leq \frac{I(n, m, k)}{I^m(n, k)} \leq c_2(n, m) k^{m-1} .$$

Proof.

$$\begin{aligned} I(n, m, k) &= \int_a^b y^{mk-2} e^{-4\pi nmy} dy, \\ I(n, m, k) &\leq e^{-4\pi nma} \int_a^b y^{mk-2} dy, \\ I(n, m, k) &\leq \frac{e^{-4\pi nma}}{mk-1} b^{mk-1}, \\ \frac{c_1 e^{-4\pi nmb} b^{mk-1}}{mk-1} &\leq I(n, m, k), \\ \frac{c_1 e^{-4\pi nmb} b^{mk-1}}{(mk-1)} &\leq I(n, m, k) \leq \frac{e^{-4\pi nma}}{(mk-1)} b^{mk-1}, \\ I(n, k) &= \int_a^b y^{k-2} e^{-4\pi ny} dy, \\ I(n, k) &\leq e^{-4\pi na} \int_a^b y^{k-2} dy, \\ I(n, k) &\leq \frac{e^{-4\pi na}}{(k-1)} b^{k-1}, \end{aligned}$$

$$\begin{aligned}
 c_2 \frac{e^{-4\pi n b} b^{k-1}}{(k-1)} &\leq I(n, k), \\
 c_2 \frac{e^{-4\pi n b} b^{k-1}}{(k-1)} &\leq I(n, k) \leq \frac{\epsilon^{-4\pi n a} b^{k-1}}{(k-1)}, \\
 \frac{c_2^m e^{-4\pi n m b} b^{m(k-1)}}{(k-1)^m} &\leq I^m(n, k) \leq \frac{\epsilon^{-4\pi n m a} b^{m(k-1)}}{(k-1)^m}, \\
 \frac{(k-1)^m}{\epsilon^{-4\pi n m a} b^{m(k-1)}} &\leq \frac{1}{I^m(n, k)} \leq \frac{(k-1)^m}{c_2^m e^{-4\pi n m b} b^{m(k-1)}}, \\
 \frac{c_1 b^{m-1} (k-1)^m}{\epsilon^{4\pi n m (b-a)} (m k - 1)} &\leq \frac{I(n, m, k)}{I^m(n, k)} \leq \frac{\epsilon^{4\pi n m (b-a)} b^{m-1} (k-1)^m}{c_2^m (m k - 1)}
 \end{aligned}$$

$$\text{Exp } \gamma(k, T, m) = \frac{\text{Exp } U(k, T, m)}{V(k, T, m)},$$

where

$$U(k, T, m) = \int_R y^{km} \left| \sum_{n=1}^T \lambda_n g(n, k) h(n, y) e(nx) \right|^{2m} d\mu_z,$$

and

$$V(k, T, m) = \left(\sum_{n=1}^T g^2(n, k) I(n, k) \text{Exp}(\lambda_n^2) \right)^m.$$

We have

$$U(k, T, m) = \int_a^b y^{mk-2} \left(\int_0^1 \left| \sum_{n=1}^T \lambda_n g(n, k) h(n, y) \epsilon(nx) \right|^{2m} dx \right) dy.$$

Let $\Delta_n = \Delta_n(k, y) = \lambda_n g(n, k) h(ny)$. Then

$$\begin{aligned}
 &\int_0^1 \left| \sum_{n=1}^T \Delta_n \epsilon(nx) \right|^{2m} dx = \int_0^1 \left| \left(\sum_{n=1}^T \Delta_n \epsilon(nx) \right)^m \right|^2 dx \\
 &= \int_0^1 \left| \left(\sum_{\substack{k_1 + \dots + k_T = m \\ k_1 + 2k_2 + \dots + T k_T = m}} P(k_1, \dots, k_T) [\Delta_1 \epsilon(x)]^{k_1} \dots [\Delta_T \epsilon(Tx)]^{k_T} \right) \right|^2 dx
 \end{aligned}$$

$$\begin{aligned}
 & + \left(\sum_{\substack{k_1 + \dots + k_T = m \\ k_1 + 2k_2 + \dots + Tk_T = (m+1)}} P(k_1, \dots, k_T) [\Delta_1 \epsilon(x)]^{k_1} \dots [\Delta_T e(Tx)]^{k_T} \right) + \dots \\
 & + \left(\sum_{\substack{k_1 + \dots + k_T \\ k_1 + 2k_2 + \dots + Tk_T = mT}} P(k_1, \dots, k_T) [\Delta_1 \epsilon(x)]^{k_1} \dots [\Delta_T e(Tx)]^{k_T} \right) \Big|^2 dx,
 \end{aligned}$$

where $P(k_1, \dots, k_T) = \frac{(k_1 + \dots + k_T)!}{(k_1! \dots k_T!)}$. □

There are T^m terms in this sum. Hence

$$\begin{aligned}
 & \int_0^1 \left| \sum_{n=1}^T \Delta_n e(nx) \right|^{2m} dx \\
 & = \left(\sum_{\substack{k_1 + \dots + k_T = m \\ k_1 + 2k_2 + \dots + Tk_T = m}} P(k_1, \dots, k_T) \Delta_1^{k_1} \dots \Delta_T^{k_1} \right)^2 \\
 & + \left(\sum_{\substack{k_1 + \dots + k_T = m \\ k_1 + 2k_2 + \dots + Tk_T = (m+1)}} P(k_1, \dots, k_T) \Delta_1^{k_1} \dots \Delta_T^{k_T} \right)^2 + \dots \\
 & + \left(\sum_{\substack{k_1 + \dots + k_T = m \\ k_1 + 2k_2 + \dots + Tk_T = mT}} P(k_1, \dots, k_T) \Delta_1^{k_1} \dots \Delta_T^{k_1} \right)^2 \\
 & = \Delta_1^{2m} + \Delta_2^{2m} + \dots + \Delta_T^{2m} + \sum_{\substack{\theta_1 + \dots + \theta_T = 2m \\ \theta_1 + 2\theta_2 + \dots + T\theta_T = 2m \\ 0 \leq \theta_i < 2m}} \Delta_1^{\theta_1} \dots \Delta_T^{\theta_T} \\
 & + \sum_{\substack{\theta_1 + \dots + \theta_T = 2m \\ \theta_1 + 2\theta_2 + \dots + T\theta_T = (2m+2) \\ 0 \leq \theta_i < 2m}} \Delta_1^{\theta_1} \dots \Delta_T^{\theta_T} + \dots + \sum_{\substack{\theta_1 + \dots + \theta_T = 2m \\ \theta_1 + 2\theta_2 + \dots + T\theta_T = (2mT) \\ 0 \leq \theta_i < 2m}} \Delta_1^{\theta_1} \dots \Delta_T^{\theta_T} .
 \end{aligned}$$

There are less than T^{2m} terms in this sum.

Hence

$$U(k, T, m) = \sum_{n=1}^T \int_a^b y^{mk-2} \Delta_n^{2m} dy$$

$$+ \sum_{\substack{\theta_1+\dots+\theta_T=2m \\ \theta_1+2\theta_2+\dots+T\theta_T=s \\ 2m \leq s \leq 2mT \\ 0 \leq \theta_i < 2m}} \int_a^b y^{mk-2} \Delta_1^{\theta_1} \dots \Delta_T^{\theta_T} dy,$$

where there are less than T^{2m} terms in the second sum.

In what follows we abbreviate the notation in the obvious way.

$$\begin{aligned} \Delta_n^{2n} &= \lambda_n^{2m} g^{2m}(n, k) e^{-4\pi mny} \int_a^b y^{mk-2} \Delta_n^{2m} dy \\ &= \lambda_n^{2m} g^{2m}(n, k) \int_a^b y^{mk-2} e^{-4\pi mny} dy = \lambda_m^{2m} g^{2m}(n, k) I(n, m, k), \end{aligned}$$

so that

$$\begin{aligned} \text{Exp} \int_a^b y^{mk-2} \Delta_n^{2m} dy &= g^{2m}(n, k) I(n, m, k) \text{Exp}(\lambda_n^{2m}). \\ \Delta_n^{\theta_n} &= \lambda_n^{\theta_n} g^{\theta_n}(n, k) e^{-2\pi \theta_n ny} \\ \Delta_1^{\theta_1} \dots \Delta_T^{\theta_T} &= g_1^{\theta_1} \dots g_T^{\theta_T} \lambda_1^{\theta_1} \dots \lambda_T^{\theta_T} e^{-2\pi(\theta_1+2\theta_2+\dots+T\theta_T)y} \\ \int_a^b y^{mk-2} \Delta_1^{\theta_1} \dots \Delta_T^{\theta_T} dy &= g_1^{\theta_1} \dots g_T^{\theta_T} \lambda_1^{\theta_1} \dots \lambda_T^{\theta_T} \int_a^b y^{mk-2} e^{-2\pi(\theta_1+2\theta_2+\dots+T\theta_T)y} dy \\ &= g_1^{\theta_1} \dots g_T^{\theta_T} I(\theta_1, \dots, \theta_T, m, k) \lambda_1^{\theta_1} \dots \lambda_T^{\theta_T}, \end{aligned}$$

so that

$$\begin{aligned} \text{Exp} \int_a^b y^{mk-2} \Delta_1^{\theta_1} \dots \Delta_T^{\theta_T} dy \\ = g_1^{\theta_1} \dots g_T^{\theta_T} I(\theta_1, \dots, \theta_T, m, k) \text{Exp}(\lambda_1^{\theta_1} \dots \lambda_T^{\theta_T}). \end{aligned}$$

$$\text{Exp} \gamma(k, T, m) = S_1(k, T, m) \times S_2(k, T, m)$$

where

$$S_1(k, T, m) = \frac{S_A(k, T, m)}{S_B(k, T, m)(1 + E_1(k, T, m))}$$

and

$$S_2(k, T, m) = (1 + E_2(k, T, m))$$

where

$$S_A(k, T, m) = \sum_{n=1}^T g^{2m}(n, k) I(n, k, m) \text{Exp}(\lambda_n^{2m}),$$

$$S_B(k, T, m) = \sum_{n=1}^T g^{2m}(n, k) I^m(n, k) [\text{Exp}(\lambda_n^2)]^m,$$

$$E_1(k, T, m) = \frac{\sum_{\substack{k_1+\dots+k_T=m \\ 0 \leq k_i < m}} A_1^{k_1} \dots A_T^{k_T}}{\sum_{n=1}^T g^{2m}(n, k) I^m(n, k) [\text{Exp}(\lambda_n^2)]^m},$$

where

$$A_n = g^2(n, k) I(n, k) \text{Exp}(\lambda_n^2),$$

$$E_2(k, T, m) = \frac{\sum_{\substack{\theta_1+\dots+\theta_T=2m \\ 0 \leq \theta_i < 2m}} g_1^{\theta_1} \dots g_T^{\theta_T} I(\theta_1, \dots, \theta_T, m, k) \text{Exp}(\lambda_1^{\theta_1} \dots \lambda_T^{\theta_T})}{\sum_{n=1}^T g^{2m}(n, k) I(n, k, m) \text{Exp}(\lambda_n^{2m})}.$$

Lemma 2.2. Limit $E_1(k, T, m) = 0$, for each $m > 0$.
 $k \rightarrow \infty$

Proof. Let A be any term in $E_1(k, T, m)$.

$$A \leq \frac{[g^{2k_1}(1, k) \dots g^{2k_T}(T, k)] [I^{k_1}(1, k) \dots I^{k_T}(T, k) P] [\text{Exp}(\lambda_1^2)]^{k_1} \dots [\text{Exp}(\lambda_T^2)]^{k_T}}{g^{2m}(T, k) I^m(T, k) [\text{Exp}(\lambda_T^2)]^m}.$$

$$\frac{g^{2k_1}(1, k) \dots g^{2k_T}(T, k)}{g^{2m}(T, k)} = \frac{\left(1^{\frac{k-1}{2}}\right)^{2k_1} \cdot \left(2^{\frac{k-1}{2}}\right)^{2k_2} \dots \left(T^{\frac{k-1}{2}}\right)^{2k_T}}{\left(T^{\frac{k-1}{2}}\right)^{2m}}$$

$$= \left(\frac{1^{k_1} \cdot 2^{k_2} \dots T^{k_T}}{T^m}\right)^{k-1} \leq \left(\frac{(T-1)^1 (T)^{m-1}}{T^m}\right)^{k-1} = \left(\frac{T-1}{T}\right)^{k-1},$$

since at least two $k_i \neq 0$. Also,

$$I^{k_1}(1, k) \cdot I^{k_2}(2, k) \cdots I^{k_T}(T, k) \leq \left(\int_a^b y^{k-2} dy \right)^m$$

and

$$e^{-4\pi T b} \left(\int_a^b y^{k-2} ky \right) \leq I(T, k),$$

so

$$\frac{1}{I^m(T, k)} \leq e^{4\pi m T b} \left(\int_a^b y^{k-2} dy \right)^{-m}.$$

Hence

$$A \leq \left(\frac{T-1}{T} \right)^{k-1} e^{4\pi m T b} \frac{[\text{Exp}(\lambda_1^2)]^{k_1} \cdots [\text{Exp}(\lambda_T^2)]^{k_T}}{[\text{Exp}(\lambda_T^2)]^m},$$

since there are only a finite number of A . The proof is complete. □

Lemma 2.3. $\lim_{k \rightarrow \infty} E_2(k, T, m) = 0$.

Proof. Let B be any term in $E_2(k, T, m)$.

$$\begin{aligned} |B| &\leq \frac{[g^{\theta_1}(1, k) \cdots g^{\theta_k}(T, k)] I(\theta_1, \dots, \theta_T, m, k) [\text{Exp}(|\lambda_1|^{\theta_1} \cdots |\lambda_T|^{\theta_T})]}{g^{2m}(T, k) I(T, m, k) [\text{Exp}(\lambda_T^{2m})]} \\ &= \frac{g^{\theta_1}(1, k) \cdots g^{\theta_T}(T, k)}{g^{2m}(T, k)} = \frac{\left(1^{\frac{k-1}{2}}\right)^{\theta_1} \cdots \left(T^{\frac{k-1}{2}}\right)^{\theta_T}}{\left(T^{\frac{k-1}{2}}\right)^{2m}} \\ &= \left(\frac{1^{\theta_1} \cdots T^{\theta_T}}{T^{2m}}\right)^{\frac{k-1}{2}} \leq \left(\frac{(T-1)^1 T^{2m-1}}{T^{2m}}\right)^{\frac{k-1}{2}} = \left(\frac{T-1}{T}\right)^{\frac{k-1}{2}}, \end{aligned}$$

since at least two $\theta_i \neq 0$.

$$I(\theta_1 \cdots \theta_T, m, k) \leq \left(\int_a^b y^{mk-2} dy \right)$$

$$e^{-r\pi mbT} \int_a^b y^{mk-2} dy \leq I(T, m, k),$$

since $s \leq 2mT$. So

$$\frac{1}{I(T, m, k)} \leq e^{4\pi mbT} \left(\int_a^b y^{mk-2} dy \right)^{-1}.$$

Hence

$$|B| \leq \left(\frac{T-1}{T} \right)^{k-1} e^{4\pi mTb} \frac{[\text{Exp}(|\lambda_1|^{\theta_1} \cdots |\lambda_T|^{\theta_T})]}{\text{Exp}(\lambda_T^{2m})}.$$

Since there are only a finite number of B , the proof is complete. □

Remark. The proof of Theorem 1.5 is now an immediate consequence of Lemma 2.1, Lemma 2.2 and Lemma 2.3.

3. The Sato-Tate Measure

It is possible to construct from the Sato-Tate measure (or from any distribution of mean zero) by the infinite product of measure spaces a probability space (Ω, μ) and a set of independent random variables $\{\lambda_p(\omega) \mid p \text{ is a prime}\}$ on Ω , whose range is contained in $[-2, 2]$ such that

$$\text{Exp}(\lambda_n) = \begin{cases} 1 & \text{if } n = 1, \\ 0 & \text{otherwise,} \end{cases} \tag{3.1}$$

$$\text{Exp}(\lambda_n \lambda_m) = \begin{cases} 1 & \text{if } n = m, \\ 0 & \text{otherwise.} \end{cases} \tag{3.2}$$

Let

$$M(k, T, m) = \frac{\sum_{n=1}^T g^{2m}(n, k) I(n, k, m) [\text{Exp}(\lambda_n^{2m})]}{\left(\sum_{n=1}^T g^2(n, k) I(n, k) [\text{Exp}(\lambda_n^2)] \right)^m}, \tag{3.3}$$

$$E(k, T, m) = \frac{\sum_{\substack{\theta_1 + \dots + \theta_T = 2m \\ 0 \leq \theta_i < 2m}} g_1^{\theta_1} \cdots g_T^{\theta_T} I(\theta_1, \dots, \theta_T, m, k) \text{Exp}(\lambda_{\theta_1}, \dots, \lambda_{\theta_T})}{\left(\sum_{n=1}^T g^2(n, k) I(n, k) [\text{Exp}(\lambda_n^2)] \right)^m} \tag{3.4}$$

By the calculations in Section 2 we have

$$\text{Exp } \gamma(k, T, m) = M(k, T, m) + E(k, T, m) \tag{3.5}$$

Lemma 3.1. *For each $n \geq 1$ $\text{Exp}(\lambda_n^2) = 1$.*

Proof. Immediate by (3.2). □

Lemma 3.2. *For each $n \geq 1$ and $m \geq 1$ $\text{Exp}(\lambda_n^{2m}) \geq 1$.*

Proof. Immediate by (1.1), (3.1) and (3.2). □

Lemma 3.3. *For each $k \geq 2, T \geq 1, m \geq 1$ $M(k, T, m) \geq 0$ and $E(k, T, m) \geq 0$.*

Proof. Immediate from (1.1), (3.1) and (3.2). □

Let

$$M_U(k, T, m) = \frac{\sum_{n=1}^T n^{m(k-1)} e^{-4\pi n m a} \text{Exp}(\lambda_n^{2m})}{\left(\sum_{n=1}^T n^{(k-1)} e^{-4\pi n b} \text{Exp}(\lambda_n^2) \right)^2}, \tag{3.5}$$

$$M_L(k, T, m) = \frac{\sum_{n=1}^T n^{m(k-1)} e^{-4\pi n m b} \text{Exp}(\lambda_n^{2m})}{\left(\sum_{n=1}^T n^{(k-1)} e^{-4\pi n a} \text{Exp}(\lambda_n^2) \right)^2}. \tag{3.6}$$

Lemma 3.4. *For each $k \geq 2, T \geq 1, m \geq 1$*

$$C_m k^{m-1} M_L(k, T, m) \leq M(k, T, m) \leq C_m^* k^{m-1} M_U(k, T, m)$$

Proof. This follows straightforwardly from the relevant definitions. □

Lemma 3.5. *For each $k \geq 2, T \geq 1, m \geq 1$*

$$C_m k^{m-1} M_L(k, T, m) \leq \text{Exp } \gamma(k, T, m).$$

Proof. This follows from Lemma 3.3 and Lemma 3.4. □

We have the following well known result.

Lemma 3.6.

$$\int_0^\infty x^n e^{-\mu x} dx = \frac{n!}{\mu^{n+1}}.$$

Let

$$M_U^*(k, T, m) = \frac{\sum_{n=1}^T n^{m(k-1)} e^{-4\pi n m a}}{\left(\sum_{n=1}^T n^{(k-1)} e^{-4\pi n b}\right)^m}, \tag{3.7}$$

$$M_L^*(k, T, m) = \frac{\sum_{n=1}^T n^{m(k-1)} e^{-4\pi n m b}}{\left(\sum_{n=1}^T n^{(k-1)} e^{-4\pi n a}\right)^m}. \tag{3.8}$$

Lemma 3.7. For each $k \geq 2, T \geq 1, m \geq 1$

$$M_U^*(k, T, m) \leq M_U(k, T, m).$$

Proof. This follows from Lemma 3.1 and Lemma 3.2. □

Lemma 3.8. For each $k \geq 2, T \geq 1, m \geq 1$

$$M_L^*(k, T, m) \leq M_L(k, T, m).$$

Proof. This follows from Lemma 3.1 and Lemma 3.2. □

Lemma 3.9. $\lim_{k \rightarrow \infty} \lim_{T \rightarrow \infty} M_U^*(k, T, m) = +\infty.$

Proof. This follows from Lemma 3.6 and Sterling’s formula. □

Lemma 3.10. $\lim_{k \rightarrow \infty} \lim_{T \rightarrow \infty} C_m k^{m-1} M_L^*(k, T, m) = 0.$

Proof. This follows from Lemma 3.6 and Sterling’s formula. □

Let

$$M^*(k, T, m) = \frac{\sum_{n=1}^T g^{2m}(n, k)I(n, k, m)}{\left(\sum_{n=1}^T g^2(n, k)I(n, k)\right)^m} \tag{3.9}$$

Lemma 3.11. For each $k \geq 2, T \geq 1, m \geq 1$

$$M^*(k, T, m) \leq M(k, T, m)$$

and

$$M^*(k, T, m) \leq \text{Exp}\gamma(k, T, m).$$

Proof. Immediate by Lemma 3.1, Lemma 3.2 and Lemma 3.3. □

Lemma 3.12. For each $m \geq 1$

$$\lim_{k \rightarrow \infty} \lim_{T \rightarrow \infty} M^*(k, T, m) = 0.$$

Proof. This follows from Lemma 3.6 and Sterling’s formula. □

Acknowledgments

I thank Peter Sarnak for suggesting that I investigate Hejhal’s conjecture by means of mock Hecke eigenfunctions and for several helpful conversations.

References

- [1] T.M. Apostol, *Mathematical Analysis*, Second Edition, Addison-Wesley Publishing Col, Reading, MA (1974).
- [2] M.V. Berry, Regular and irregular semiclassical wavefunctions, *J. Phys.*, **A10** (1977), 2083-2091.

- [3] P. Billingsley, *Probability and Measure*, Second Edition, Wiley, New York (1986).
- [4] C. Epstein, J. Hafner, P. Sarnak, Zeros of L -functions attached to Maass forms, *Math. Zeit.*, **190** (1985), 113-128.
- [5] A. Erdélyi, *Higher Transcendental Functions*, Volume 2, McGraw-Hill (1953).
- [6] A. Good, Cusp forms and eigenfunctions of the Laplacian, *Math. Ann.*, **255** (1981), 523-548.
- [7] M. Gutzwiller, *Chaos in Classical and Quantum Mechanics*, Springer-Verlag (1990).
- [8] D.A. Hejhal, Eigenvalues of the Laplacian for Hecke triangle groups, *Memoirs Amer. Math. Soc.*, **469** (1992).
- [9] D.A. Hejhal, On eigenvalues of the Laplacian for Hecke triangle groups, in Zeta functions in geometry, *Adv. Studies in Pure Math.* (Ed-s: N. Kurokawa, T. Sunada), **21** (1992), 359-408.
- [10] D.A. Hejhal, Eigenvalues of the Laplacian for $\mathrm{PSL}(2, \mathbb{Z})$: Some new results and computational techniques, In: *International Symposium in Memory of Hua Loo-Keng* (Ed-s: S. Gong, Y. Lo, Q. Lu, Y. Wang), Volume 1, Springer-Verlag and Science Press (1991), 59-102; reprinted in [8].
- [11] D.A. Hejhal, *The Selberg Trace Formula for $\mathrm{PSL}(2, \mathbb{R})$* , Volume 2, Lecture Notes in Mathematics 1001, Springer-Verlag (1983).
- [12] D.A. Hejhal, B. Rackner, On the topography of Maass waveforms for $\mathrm{PSL}(2, \mathbb{Z})$, *Exper. Math.*, **1** (1992), 275-305.
- [13] D.A. Hejhal, S. Arno, On Fourier coefficients of Maass waveforms for $\mathrm{PSL}(2, \mathbb{Z})$, *Math. of Comp.*, **61** (1993), 245-267.
- [14] D.A. Hejhal, On value distribution properties of automorphic functions along closed horocycles, In: *XVIIth Rolf Nevanlinna Colloquium* (Ed-s: I. Laine, O. Martio), de Gruyter (1996), 39-52.
- [15] H. Iwaniec, *Introduction to the Spectral Theory of Automorphic Forms*, Biblioteca de la Revista Matemática Iberoamericana, Madrid (1995).

- [16] W. Luo, P. Sarnak, Quantum ergodicity of eigenfunctions on $\mathrm{PSL}(2, \mathbb{Z}) \backslash H$, *Publ. Math. IHES*, **81** (1995), 207-237.
- [17] R. Phillips, P. Sarnak, On cusp forms for cofinite subgroups of $\mathrm{PSL}(2, \mathbb{R})$, *Invent. Math.*, **80** (1985), 339-364.
- [18] R.A. Rankin, *Modular Forms and Functions*, Cambridge Univ. Press (1977).
- [19] R.A. Rankin, Fourier coefficients of cusp forms, *Math. Proc. Cambridge Phil. Soc.*, **100** (1986), 5-29.
- [20] R.A. Rankin, A family of newforms, *Ann. Acad. Sci. Fenn.*, **10** (1985), 461-467.
- [21] R.A. Rankin, Sums of powers of cusp form coefficients, II, *Math. Ann.*, **272** (1985), 593-600.
- [22] R. Salem, A. Zygmund, Some properties of trigonometric series whose terms have random signs, *Acta Math.*, **91** (1954), 245-301.
- [23] P. Sarnak, Integrals of products of eigenfunctions, *Inter. Math. Res. Notices* (1994), 251-260.
- [24] P. Sarnak, On cusp forms, In: *The Selberg Trace Formula and Related Topics* (Ed-s: D. Hejhal, P. Sarnak, A. Terras), Contemp. Math., Volume 53, Amer. Math. Soc. (1986), 393-407.
- [25] P. Sarnak, Arithmetic quantum chaos, *Israel Math. Conf. Proc.*, **8** (1995), 183-236.
- [26] A. Selberg, On the estimation of Fourier coefficients of modular forms, *Proc. Symp. Pure Math.*, **8** (1965), 1-15.
- [27] G. Shimura, *Introduction to the Arithmetic Theory of Automorphic Functions*, Princeton Univ. Press (1971).
- [28] H. Stark, Fourier coefficients of Maass waveforms, In: *Modular Forms* (Ed. R. Rankin), Ellis-Horwood (1984), 263-269.
- [29] G. Steil, Eigenvalues of the Laplacian and of the Hecke operators for $\mathrm{PSL}(2, \mathbb{Z})$, *DESY Report*, 94-028, Hamburg (1994), 25 pp.
- [30] S. Zelditch, Uniform distribution of eigenfunctions on compact hyperbolic surfaces, *Duke Math. J.*, **55** (1987), 919-941.

- [31] S. Zelditch, Mean Lindelöf hypothesis and equidistribution of cusp forms and Eisenstein series, *J. Funct. Anal.*, **97** (1991), 1-49.